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Solved Examples

1. If a number 573 xy is divisible by 90, then what is

the value of x+y?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qY8PYsSJrQFE

2. The product of two whole numbers is 13. What is

the sum of the squares of their reciprocals ?

o Watch Video Solution

3. What per cent is the least rational number of the

1 2 1 5
and — are

reatest rational number, if —, —, —
& 2’5’3 9

arranged in ascending order?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ny16DYHN9PP9
https://dl.doubtnut.com/l/_ggIwphUueA2N

4. The units' digit in the expression

(111 +122 1132 4 144 + 155 + 166) is

o Watch Video Solution

5. Find the wunits' digit in the expression

(515)*! + (525)%°?

° Watch Video Solution

6. What is the total number of factors of the

number N = 4 % 14% x 1127

S


https://dl.doubtnut.com/l/_OlemBVioIbau
https://dl.doubtnut.com/l/_Zne5GbOqZH4R
https://dl.doubtnut.com/l/_iUzNs2WkNp59

[ o VWatch Video Solution ]

7. The numbers 1, 3, 5, .. 25 are multiplied together.
The number of zeros at the right end of the product

is0(b)1(c)2(d)3

° Watch Video Solution

8. In a division sum, the remainder is 6 and the
divisor is 5 times the quotient and is obtained by

adding 2 to thrice of remainder. Find the dividend.

o Watch Video Solution



https://dl.doubtnut.com/l/_iUzNs2WkNp59
https://dl.doubtnut.com/l/_YGUu0PUNYfhJ
https://dl.doubtnut.com/l/_Z8pf68xM9OJk
https://dl.doubtnut.com/l/_HdnLZe7QEKkM

9. A three digit number 3a5 is added to another 3-

digit number 933 to give a 4-digit number 12b8,

which is divisible-by 11. Then, find the value of a+b ?

° Watch Video Solution

1
10. If ——= = 0.00112233445566778899.......

Th
891 en
hat is th I f 198 ?
what is the value o oL .
o Watch Video Solution
1. What is the value of
1 1 1

1 1
— — — — — ?
5+5+5—|—5+5+5—|—5—|—5.


https://dl.doubtnut.com/l/_HdnLZe7QEKkM
https://dl.doubtnut.com/l/_UPyKSjrlbjTp
https://dl.doubtnut.com/l/_bUxBfUt1k0nc

° Watch Video Solution

Question Bank

1. If the remainder obtained by subtracting a

number from its own square is 4 times the number,

what is the number?

A 4

B.3

C.6

D.5


https://dl.doubtnut.com/l/_bUxBfUt1k0nc
https://dl.doubtnut.com/l/_GjL0hghWW3B2

Answer: D

o Watch Video Solution

2. The difference between the squares of two

consecutive odd integers is always divisible by 3 (b)

6(c)7(d)8

A.8

B.7

C.6

D.3


https://dl.doubtnut.com/l/_GjL0hghWW3B2
https://dl.doubtnut.com/l/_jMCNuve0u6Si

Answer: A

o Watch Video Solution

3. A number when divided by 296 leaves 75 as

remainder. If the same number is divided by 37, thé

remainder obtained is

A 2

B.1

C.Nn

D.8


https://dl.doubtnut.com/l/_jMCNuve0u6Si
https://dl.doubtnut.com/l/_UWeGwtGWIKZf

Answer: B

o Watch Video Solution

4. A number when divided by 5 leaves 3 as

remainder. If the square of the same number is

divided by 5, the remainder obtained is,

A9

B.4

C.1

D.3


https://dl.doubtnut.com/l/_UWeGwtGWIKZf
https://dl.doubtnut.com/l/_PGPFpW2O4Dk2

Answer: B

° Watch Video Solution

5. When N is divided by 4, the remainder is 3. What

is the remainder when 2N is divided by 4.

A2

B.3

C. 4

D.8

Answer: A



https://dl.doubtnut.com/l/_PGPFpW2O4Dk2
https://dl.doubtnut.com/l/_dftfjNNlyFAl

| ) Watch Video Solution

6. The units' digit in the expression
(111 + 122 + 13 + 14 +15° 4 16 ) i

A1l

B.7

C.9

D.O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dftfjNNlyFAl
https://dl.doubtnut.com/l/_vFodpRQoiIRF
https://dl.doubtnut.com/l/_IW3PG5oySkpS

7. The digit in the units place of
[(251)98 + (2D — (106)'° + (705)%° — 16* + 259]
is1(b)4(c)5(d)6

A1l

B.4

C.5

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IW3PG5oySkpS

8. The number of digits in (484 X 512) is

A.18
B. 16
C.14

D. 12

Answer: B

° Watch Video Solution

9. Which one of the following is a rational number?


https://dl.doubtnut.com/l/_XrjTfCCEtZ0X
https://dl.doubtnut.com/l/_TIDYlVB24Gsm

Answer: A

° Watch Video Solution

10. If = is a rational number and y is an irrational
number, then both =z + yand xry are necessarily
rational both « + yandxy are necessarily

irrational zy is necessarily irrational, but z + ycan


https://dl.doubtnut.com/l/_TIDYlVB24Gsm
https://dl.doubtnut.com/l/_mbUqLQGXgtYg

be either rational or irrational £ + y is necessarily

irrational, but zy can be either rational or irrational

A.Both x + y and xy are necessarily irrational.

B. Both x + y and xy are necessarily rational.

C.xy is necessarily irrational, but x + y can be

either rational or irrational.

D.x+y is necessarily irrational, but xy can be

either rational or irrational.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mbUqLQGXgtYg
https://dl.doubtnut.com/l/_1mJTzosQis1i

11. Consider the following statements :
A number ajasasaysasag is divisible by 11 if
1. (a1 +a3+a5) —(ag +ags+ag) =0
2.(a1 + a3 + a5) — (as + a4 + ag) is divisible by 11
Which of these statements is/are correct?
A.1alone
B. 2 alone

C.Both 1and 2

D. Neither 1 nor 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1mJTzosQis1i

12. The number 111,111,111,111 is divisible by

A.9and 11

B.5and 11

C.3and 9

D. 3 and 11

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1mJTzosQis1i
https://dl.doubtnut.com/l/_ECrpiofSAlYu

13. If 1249221321+ ..... + 5122 = m, then

22 4 4%+ 6%+ ......... + 1024% is equal to

A.3m

B.4m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_flVubA5rq25S

14.If m and n are positive integers, then the digit in
the units place of 5" + 6™ + is always 1 (b) 5 (c) 6
(d)n +m

A1l

B.5

C.6

D. n+m

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9YHPsrl18PCU

15. What number 'should replaced M in this multipli-
: 4
cation problem ? 3 M 4 VAL
A.O
B.5
C.7

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_91YXqVMzMIHA

16. m'and n are integers and ,/mn = 10. Which of
the following cannot be a value of m+n ?

A. 25

B. 52

C. 101

D. 50

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CmqpPaaLm310

17. If a six digit number 93p25q is divisible by 88,

then the values of p and g are respectively

A.2and 8

B.8and 2

C.8and 6

D.6and 8

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_SVwcYtn5KHJC

18. What is, the 25th digit to the right of the decimal
point in the decimal of 1 ?

A5

B.3

C. 4

D.6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GyHApxN2rvRL

19. A number when divided by the sum of 555 and

445 gives two times their difference as quotient and

30 as the remainder. The number is

A. 220030

B. 22030

C.1220

D. 1250

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yAGL3Ki2RfIe

20. There are four prime numbers written in

ascending order. The product of the first three is

385 and that of last three is 1001. Find the first

number.

A5

B.7

c.Nn

D. 17

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SGLq1SPg9I8z
https://dl.doubtnut.com/l/_XKeNIgzry1pr

21. What is the highest power of 5 that divides

90 x 80 x 70 x 60 x 50 x 40 x 30 x 20 x 10

A.10

B.12

C.14

D. 15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XKeNIgzry1pr

22. Five digit numbers are formed such that either
all the digits are even or all the digits are odd. If no
digit is allowed to be repeated in one number find
the difference between the maximum possible.
number with odd-digits and the minimum possible

number with even digits

A. 77063

B. 79999

C. 72841

D. 86420

Answer: A



https://dl.doubtnut.com/l/_hmXZDmxO2rVe

| ° Watch Video Solution

23. Which one of the following numbers will
completely divide (325 + 3% 4 327 4 328) ?

A 11

B.16

C. 25

D. 30

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hmXZDmxO2rVe
https://dl.doubtnut.com/l/_Bvre96R6DDNQ
https://dl.doubtnut.com/l/_II8c0q4ZeZH7

24. A number when divided successively by 4 and 5

leaves remainders 1 and 4 respectively. When it is

successively divided by 5 and 4, then the respective.

remainders will be

A 1,2

B.2,3

C.3,2

D. 4,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_II8c0q4ZeZH7
https://dl.doubtnut.com/l/_EHq0rNua7lAw

(in the lowest form) then

25. If 2.5252525...... — %

what is the value of % ?

A.04
B.0.42525
C. 0.0396

D. 0.396

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EHq0rNua7lAw

26. What is the sum of two numbers whose

difference is 45, and the quotient of the greater

number by the lesser number is 4?

A. 100

B. 90

C.80

D.75

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kVCgTozwUJns

27. The number of factors of a number

N=2x3x5is

A.18

B.45

C.48

D.9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Ebc9uYRxlux3

28. P = 441 x 484 x 529 x 576 x 625. The total

number of factors are

A. 607

B. 5706

C.1024

D. 6075

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6ZzaK7sGnt06

29.1f N = 123 x 3* x 52, then the total number of
even factors of N is

A. 25

B. 121

C.144

D. 84

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_l5UiPczbJWK5

30. The units' digit of the  sum

B.1

C.9

D.O

Answer: D

° Watch Video Solution

Self Assessment Sheet



https://dl.doubtnut.com/l/_M9FX5a9i5b8T

1.16° + 2'° is divisible by

A. 31
B.13
C. 27

D. 33

Answer: D

° Watch Video Solution

2. Find the number of divisors of 10800.


https://dl.doubtnut.com/l/_R0WGCSjtnsn9
https://dl.doubtnut.com/l/_jLjsggxMtEhH

A. 57

B. 60

C.72

D. none of these

Answer: B

o Watch Video Solution

3. The units digit of

125813 « 5533703 » 4532828 is

A 4

the

expression


https://dl.doubtnut.com/l/_jLjsggxMtEhH
https://dl.doubtnut.com/l/_XwriR4WSTJX9

B.2

C.O

D.5

Answer: C

o Watch Video Solution

4.1f M = 22 x 3°, N = 23 x 3% then the number

of factors of N that are common with factors of M is

A.8

B.5


https://dl.doubtnut.com/l/_XwriR4WSTJX9
https://dl.doubtnut.com/l/_rfkukZKMJ2Yo

C.18

D.15

Answer: D

° Watch Video Solution

5. Find the greatest number by which the expression
72" — 32" is always exactly divisible.

A 4

B.10

C. 20


https://dl.doubtnut.com/l/_rfkukZKMJ2Yo
https://dl.doubtnut.com/l/_bm4URn55jwH1

D. 40

Answer: D

° Watch Video Solution

6. Given that (1° 4+ 2° 4+ 3% + ..... +10°) = 385,
the value of (22 + 42462+ ... + 202) is equal
to

A.770

B. 1540

C. 1155


https://dl.doubtnut.com/l/_bm4URn55jwH1
https://dl.doubtnut.com/l/_gN6PJW7pGcdk

D. (385)°

Answer: B

o Watch Video Solution

7. There is one number which is formed by writing
one digit 6 times (e.g. 111111, 444444 etc). Such
number is always divisible by

A7

B. 11

C.13


https://dl.doubtnut.com/l/_gN6PJW7pGcdk
https://dl.doubtnut.com/l/_J7uvBxHTqSiM

D. all of these

Answer: D

° Watch Video Solution

8. The number of integers x for which the number

\/mz + z + lis rational is:

A. infinite
B. one
C.two

D. three


https://dl.doubtnut.com/l/_J7uvBxHTqSiM
https://dl.doubtnut.com/l/_UWNPT8Y5cbkX

Answer: C

o Watch Video Solution

9. A number divided by 296 leaves 75 as remainder, If

the same number is divided by 37, the remainder

obtained is

A 2

B.1

C.Nn

D.8


https://dl.doubtnut.com/l/_UWNPT8Y5cbkX
https://dl.doubtnut.com/l/_bjNsLOcdez6l

Answer: B

° Watch Video Solution

10. How many prime factors are there in the
expression (12)* x (34)" x (2)°7?

A. 282

B. 237

C.142

D. 61

Answer: A



https://dl.doubtnut.com/l/_bjNsLOcdez6l
https://dl.doubtnut.com/l/_u638gVhMAEik

| o Watch Video Solution



https://dl.doubtnut.com/l/_u638gVhMAEik

